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Final Exam Review-All work must be shown on a separate sheet of paper if you expect mao grade it!

1) Given: f(x) = 2x — 3 and g(x) = x* =5, evaluate 3f(=3) + g(2) 3@3}"%‘\- (33_5):-'&\‘\‘\_-\ 5&

xz +3 if x < -2 ( )
2) Given: f(x) = {lx -1] if —2 < x < 3,evaluate 3f(—1) + 2f ——3 (4).
5 & 553 3|11+ éﬁ))’;gg—-B

b=

% + -
3) Use the factor, theorem 1o sho (x—1) and (x + 2) are factoas‘*f fE)=2x"+x*+7x - 10
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4) Graph the system of inequalities.
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5) Determine the inverse function of f(x) = Vx — 5. "EJ e Al lU” :
6) Simplify each of the following: : T M: X; "'6
3r +27r 3ni1s | n6
3 2 & e, sl =
a. (x3+9x2—-x—105)+(x+5) b. 2+ 7r-18 b

8)

d.logs 27 + log, 16 e. (x2 —2x+4)(x +2)

Solve each equation for x.
a.|7 —9k| =43

d 1 +x+3_1

X2 +4x Xx+4 X

b. logg(3x + 7) = logg(7x + 4) c. 7e?* + 2.5 = 20 (solve graphically)

e.4x>—-9=0

f. 27* -1 =58

— h. 42x+1 — 82x

g. 0=2x%+3x2-39x—20 , x = —5is asolution

In the accompanying figure, ABCD, is a parallelogram mz£A = (2x + 35)°and m<( = (5x — 22)°.

Determine the value of x. D c
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9) Graph each function and fill in the information:
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Initial Value:

Asymptote:
Growth or

Growth/Decay Factor:

Graph and Identify Key Characteristics.
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10)In the accompanying diagram of parallelogram ABCD, msB = (5x)°and m£C = (2x + 12)°. Determine

the number of degrees in meD. . &w a*dk ED
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Determine the Arc or Angle Measures:
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17) Identify the center and radius given the following equation:

a(x=4)?+(y-4)2=3 b.(x+ 1)+ (y-2)2 =
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18) In rectangle ABCD, AC and BD are

diagonals, If m£1 = 55°, determine D
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19) Fill in the table below using the information given. 0° < 8 <90°,0< 8 < ; (1 pt each) 1
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20) Evaluate the following trigonometric functions. (3 pts. each)
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21)  f(6) = 3sir(—21-8\/— 1

Amplitude: 5_11
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